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Vypočtěte následuj́ıćı určité integrály:

1.

∫ ln 2

0

√
ex − 1 dx

2.

∫ 1

0
arccos(x) dx

3.

∫ ∞

0
x2k−1e−

x2

2 dx, k ∈ N

4.

∫ 4π

0

1

1 + sin2(x)
dx

5.

∫ 2π

0

1

sin4(x) + cos4(x)
dx

6.

∫ ∞

2

1

x2
dx

7.

∫ ∞

0
e−3x dx

8.

∫ 1

0
x ln(x) dx

9.

∫ ∞

0
e−ax cos(bx) dx, a > 0, b ∈ R

10.

∫ π
2

0
tan(x) dx

11.

∫ π

0
ln(1− 2α cosx+ α2)dx, |α| < 1

Vyšetřete konvergenci následuj́ıćıch integrál̊u:

12.

∫ 1

0
xp dx, p ∈ R

13.

∫ ∞

1
xp dx, p ∈ R

14.

∫ ∞

0
xp dx, p ∈ R

15.

∫ ∞

0

x
3
2

1 + x2
dx



16.

∫ 1

0

1√
x(1− x2)

dx

17.

∫ 2

0

1

ln(x)
dx

18.

∫ π
2

0

ln(sinx)

xp
dx, p ∈ R

19.

∫ ∞

0

arctan(x)

x
3
2

dx

2


